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SECTION: A

.| The female labor force participation rate has not picked up substantially
despite significant advancement in gender justice. What are the economic
impacts of reduced participation of women-in workforce? Suggest measures
to increase their labor market participation? (10 marks, 150 words)
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- | Elaborate on the salience of solar energy in India’s journey towards a

renewable energy transition? What are various efforts undertaken by the
overnm [0 le widespread adoption of solar energy? (10 marks, 150
words)
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.|How does Multidimensional Poverty Index (MPI) provide a more
comprehensive understanding of poverty beyond traditional measures using
income and consumption levels? (10 marks, 150 words)

N e ol fidimenstaned po
Tndex ﬁ%}% Trad- %' 7%
;Lhdja 'S Ws rY\/U’Qﬁ"FeoY\
MP] 1VLQQ/’LC,0\/£'IE/YS

i Rerre
() Tacome. NNy

&) Edueation Mv\m\muvf/faiﬁ

O Healty <7 Frordsdility=of heakt
»OW& fochket oxpen Y}M

e %T%%W pore s bo.

MP | [mom wwm%emsxvejm

+radl bonod

PJ

@ M/‘ Ta/avélihb'nwp

Candidates
must not
write on
this margin



2l lows
% UNDY? MPJ

@”(nbd él‘mdwf‘

W e

)QQAS—’FDM oh cm/e, -

tttttt




. | Price fluctuations in agricultural products is a major factor influencing the

profitabiltty of Tidian agric ultu . Analyse the major causes for the same and
suggest measures to reduce price volatility. (10 marks, 150 words)
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. |In the context of the theme of National Handloom Day 2024, explain how the
integration of technology and innovation in handloom weaving can expand

market access and enhance sKill development for artisans. (10 marks, 150

words)
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. | ISRO has recently launched X-ray Polarimeter Satellite (XPoSat) abroad the
PSLV CS58. What do you umnderstand by polarization of light? Discuss the
s in the recently launched XPoSAT. How does the launch of XPoSAT
boost India’s prestige in space domain? (10 marks, 150 words)
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. | Critically analyze the role of Artificial Intelligence (AI) on the’_natm_ Candidates
security paradigm. (10 marks, 150 words) must not
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. | Analyze the role of Chief of Defense Staff (CDS) in the implementation of
Integrated Theatre Command. (10 marks, 150 words)
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10.

Lightning deaths are a cause of concern in India. With reference to the above
statement, discuss whether lightning needs to be declared a natural disaster
by the union government. (10 marks, 150 words)
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11.

SECTION: B

Examine the relationship between globalization and inclusive growth? How
can countries ensure inclusive growth in an increasingly globalized world?

(15 marks, 250 words) '
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12,

How does inflation affect the growth prospects of Indian economy? Evaluate

various policy measures and instruments that aim to achieve the balance
between inflation and growth.? (15 marks, 250 words)
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13.

Crop diversification has been advocated as a panacea for the problems
plaguing Indian agriculture. Highlight both the potential benefits and the
challenges associated with crop diversification in India. Suggest a pragmatic
approach for its successful implementation. (15 marks, 250 word
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14.

The development of organic farming in India can not only aid sustainable
agricultural practices but also give impetus to our Agri-exports. Analyse (15
marks, 250 words)
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15.

Urbanization is playing the dual role of contributor as well as solution to

L_’____gh'ma fe change. Discuss. Also, highlight the multidimensional concept of 15-
minute cities. (15 marks, 250 words)
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. |Comment on the causes of biodiversity los in India. How can Environment | Candidates

Impact Assessme nt (EIA) help in biodiversity conservation? (15 marks, 250 | must not
words) write on
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17.

Biotechnology is transforming medical fiel n this
fitext, evaluate the _merits and demerits of the usage of Fixed Dose

Combination (FDC) drugs in therapeutics. (15 marks, 250 wo rds)
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18.

India’s _maritime border is presented with multitude of challenges. In this
context; analyze the provisions of Maritime Anti- -Piracy Act, 2022 in tackling

the piracy related challenges in the region . (IS5 marks,2506-words)
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19.

Even though origin of militancy in Jammu and Kashmir can be attributed to
multiple factors, recently the “Jammu” region witnessed a disturbing-
resurgence of militant activities after two decades of relative calm. Discuss.
Also, how can the civilian casualties be minimized in the counter-militant
operations conducted by the armed forces? (15 marks, 250 words)
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20.

Bhopal gas tragedy was one of the worst disasters in India’s history. With
rr ference to this statement, give insights into two chemical hazards that
occurred in India and the ways to manage such disasters. (15 marks, 250
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